TestLife 11+ Mock Test Code: SLGLBKGL3

Section 3 - Verbal Reasoning (Time Allowed 20mins)

Q1 - Q3 Find the pair of letters which complete the question in most sensible way

ABCDEFGHIJKLMNDF‘QRSTUVWXYZ

1. The code for BLACK is EODFN. What is the code for WHITE?

\?{ZKLWH B) ZIMWH C)ZILXH D) ZILWH E) ZILYH

2. The code for SMART is OIWNP. What is the code for BRAIN?

A) XNWF) B) XNVE)  C) XMWEJ D) XNWEK \;ANWEJ

Q3 - Q5 The numbers in 3 groups are related in some way. Find what number belongs to [?]
a (10 [50] 85) (12 [15] 52) (11 [?] 61)

A)65 B)55 C)45 D)35 \79/25

4, (100 [60] 20) (80 [50] 20) (70 [?] 20)

A)46  B)44 \?As D)55 E)35

5. (35[75120) (60[100]20) (35 [?] 25)
ﬁau B)85 C)9% D)95 E)65

Q6 - Q8 Three of these four numbers are given in words.The words are not written in
the same order as the numbers and one word is missing.
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3128 1265 8623 6158
TRAM EARN RENT

6. What word does the number 6158 stand for?

A) RATE J{RENT C) MART D) RANT E) MEAN

7. What is the number code for the word AMEN?

A) 5123 B) 2351 \56/2315 D) 3125  E) 3152

8. What word does the number 86128 represent?

A) RATER  B) TREAM %EAT D) RAMER  E) ARTEA

Q9 - Q11 Three of these four words are given in code.The codes are not written in
the same order as the words and one code is missing.

STAR DATE TEAR EAST
2731 5327 7342

o. What is the number code for the word STAR?

A) 4235 \95/4231 C) 4321 D) 3421 E) 3241

10. What is the number code for the word DARTS?

A) 53214 53124 C) 51324 D) 53421 E) 52134
11. What is the number code for the word 427317

A) TEADS STEAR  C) RESTS D) READS E) DEARS
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(Q 12 - Q15) The same letter must fit both sets of brackets, to complete the word

in front of the brackets and begin the word after the brackets. Find the letter and
mark in your answer sheet

12. cree [?] aint slur [?] acify
A) m \pﬁ} C)s D)d E)n
13. men [?] lcer yo [?] nable
A)s B)e \9( D)t E)k
i4. appl [?] east agon [?] ard
At Ble C)s Jwﬁ E) i
i5. clam [?] alms grou [?] acer

A)s  B)h c:)u\yﬁ E) k

Q16 - Q19 Find the number that continues each sequence:

16. a,6 13, 17, 23, 26, (7)

A)30 B)29 \5,)’31 D)32 E)34

17. 4, 8, 9, 27, 16, (?)
A)36 B)25 %4 D)81 E)49
18. 5. 11, 23, 47 [7)

A) 96 \PJ/QS C)97 D)85 E)87
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19. 1, 3, 4, 7, 11, (?)
A) 19 &{13 C)22 D)15 E)17
20. Five classmates—Hannah, Isaac, Jasmine, Kyle, and Liam—take turns

reading a paragraph aloud in English class. They read one after another in a
fixed order.
The following facts are true:
e Kyle reads immediately before Liam.
e Isaac reads first,
e Jasmine reads somewhere after Hannah.
If these statements are true, one of the following sentences CANNOT be true.
Which one?
A) Hannah reads second.
Jasmine reads fourth.
C) Liam reads fifth.

D) Kyle reads third.
E) Jasmine reads before Kyle.

21,

Q21 - Q24 The following sentences have a four letter word hidden at the end of
one word and the beginning of the next word.

For example: He's a very ardent fan of beatles. (the hidden word is yard)

They were pleased to find the postage delivered in time.

A) They were pleased

B) pleased to find

C) find the postage
postage delivered

E) delivered in time

17



TestLife 11+ Mock Test Code: SLGLBKGLS

22. Army established a secure base amid the rugged mountains.

A) Army established a

B),a secure base
base amid the

D) the rugged

E) rugged mountains

23. It applies to everyone except all the senior management.

A) It applies to

B) to everyone except
except all the

D) the senior

E) senior management

24, The broken bottles should be kept separately.

A) The broken bottles
bottles should

C) should be

D) be kept

E) kept separately

Q25-Q27 There are two pairs of words. Only one word of the five options goes
equally with both the pairs. Find the correct word and mark your answer.

25. (just impartial) (carnival exhibition)

\Aair B) festival C) market D) legal E) neutral

26. (compound mixture) (answer fix)

A) conclusion B) outcome C) complex D) blend solution
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27. (trainer teacher) (bus van)

A) guide \ﬁr/mach C) hustler D) vehicle E) wagon

Q28-Q30 Select one word from each group . You must mark two answers in
Your answer sheet.

28, July is to (august month summer) as Tuesday is to (week monday day)
A) august X) week
\/8{ month Y) monday
C) summer \/zﬁay
29, Chef is to (kitchen cuisine recipe) as teacher is to (student classroom teach)
\)ﬁzltchen X) student
B) cuisine Y)Y classroom
C) recipe Z) teach
30. Big

is to (gala tiny massive) as happy is to (amazed ecstatic indifferent)

A) gala X) amazed

B) tiny Y/Y)’Ecstarl:ic
\/Cm“sive Z) indifferent

Q31-Q33 In the following questions, three words in the second group should go
together in the same way as the three in the first group. Find the missing word.,

31. (brain [rate] fate) (blood [?] scoop)

A) pool B) door \?ﬁop D) pods E) buds



32. (vision [sonic] spice) (happen [?] vinyl)

A) veal B) nappy C) halve D) pencil \Féenny

33. (absorb [brake] knee) (expert [?] auto)

,\;ﬂreat B) peril C) exert D) trout E) apex

34. 909 :9+9=[?1-9

A) 22 \;629 C)21 D)20 E)23

35. 200+ 25=3x[?]-7

e
\/()5 By6 C)7 D)15 E) 8

END OF Paperl



